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QUESTION 1

You must fine tune an IPS security policy to eliminate false positives. You want to create exemptions to the normal
traffic examination for specific traffic.

Which two parameters are required to accomplish this task? (Choose two.)
A. source IP address

B. destination IP address

C. destination port

D. source port

Correct Answer: AB

QUESTION 2

Which statement about the control link in a chassis cluster is correct?
A. A cluster can have redundant control links.

B. Recovering from a control link failure requires a reboot.

C. The control link heartbeats contain the configuration file of the nodes.
D. The control messages sent over the link are encrypted by default.
Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-chassis-clusterdual-control-
links.html

QUESTION 3

You are troubleshooting advanced policy-based routing (APBR). Which two actions should you perform in this scenario?
(Choose two.)

A. Verify that the APBR profiles are applied to the egress zone.

B. Verity inet.0 for correct route leaking.

C. Review the APBR statistics for matching rules and route modifications.
D. Inspect the application system cache for the application entry.

Correct Answer: CD
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QUESTION 4

Which two statements describe IPS? (Choose two.)

A. IPS can be used to prevent future attacks from occurring.

B. IPS dynamically sends policy changes to SRX Series devices.
C. IPS inspects up to Layer 4 in the OSI model.

D. IPS inspects up to Layer 7 in the OSI model.

Correct Answer: AD

QUESTION 5

Click the Exhibit button.
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M\ Exhibit =

[edit security flow]
user@srx# show
aging {
early-ageout 10;
low-watermark B80;

high-watermark 95;

Which two statements are true about the configuration shown in the exhibit? (Choose two.)
A. The session is removed from the session table after 10 seconds of inactivity.

B. The session is removed from the session table after 10 milliseconds of inactivity.

C. Aggressive aging is triggered if the session table reaches 95% capacity.

D. Aggressive aging is triggered if the session table reaches 80% capacity.

Correct Answer: AC
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